

How to Compute Primordial Non-Gaussianities

Sam Passaglia¹

¹University of Chicago KICP

Vacuum Fluctuations $\xrightarrow{\text{inflate}}$ CMB Initial Conditions

Gaussianity

$$f(r) \text{ is a GRF} \iff P(\tilde{f}(\vec{k})) = \frac{1}{\pi\sigma_{\vec{k}}} e^{-\frac{|f(\vec{k})|^2}{\sigma_{\vec{k}}^2}}$$

Gaussianity

$$f(r) \text{ is a GRF} \iff P(\tilde{f}(\vec{k})) = \frac{1}{\pi\sigma_{\vec{k}}} e^{-\frac{|f(\vec{k})|^2}{\sigma_{\vec{k}}^2}}$$

$$\langle f(\vec{k}_1) f(\vec{k}_2) \rangle = \sigma_{\vec{k}}^2 \delta(\vec{k} - \vec{k}')$$

Gaussianity

$$f(r) \text{ is a GRF} \iff P(\tilde{f}(\vec{k})) = \frac{1}{\pi\sigma_{\vec{k}}} e^{-\frac{|f(\vec{k})|^2}{\sigma_{\vec{k}}^2}}$$

$$\langle f(\vec{k}_1) f(\vec{k}_2) \rangle = \sigma_{\vec{k}}^2 \delta(\vec{k} - \vec{k}')$$

$$\langle f(\vec{k}_1) f(\vec{k}_2) f(\vec{k}_3) \rangle = 0$$

Our Field is $\zeta/\mathcal{R} (\propto \Psi)$

Our Field is $\zeta/\mathcal{R} (\propto \Psi)$

$$\langle \zeta(k_1, -\infty) \zeta(k_2, -\infty) \zeta(k_3, -\infty) \rangle = 0$$

Our Field is $\zeta/\mathcal{R} (\propto \Psi)$

$$\langle \zeta(k_1, -\infty) \zeta(k_2, -\infty) \zeta(k_3, -\infty) \rangle = 0$$

$$\langle \zeta(k_1, t) \zeta(k_2, t) \zeta(k_3, t) \rangle = ?$$

Inflation

$$S = \int d^4x \sqrt{-g} \left(\frac{1}{2} R - \frac{1}{2} g^{\mu\nu} \delta_\mu \phi \delta_\nu \phi - V(\phi) \right)$$

Inflation

$$S = \int d^4x \sqrt{-g} \left(\frac{1}{2} R - \frac{1}{2} g^{\mu\nu} \delta_\mu \phi \delta_\nu \phi - V(\phi) \right)$$

$$S = \int d^4x \sqrt{-g} \left(\frac{1}{2} R - \frac{1}{2} g^{00} \dot{\phi}^2 - V(\phi) \right)$$

Evolving ζ through Inflation

$$\langle \zeta(k_1, t) \zeta(k_2, t) \zeta(k_3, t) \rangle = ?$$

Evolving ζ through Inflation

$$\langle \zeta(k_1, t) \zeta(k_2, t) \zeta(k_3, t) \rangle = ?$$

$$H = H_{\text{background}} + H_{\text{free}} + H_{\text{interaction}}$$

In-In Formalism

$$H = H_{\text{background}} + H_{\text{free}} + H_{\text{interaction}}$$

In-In Formalism

$$H = H_{\text{background}} + H_{\text{free}} + H_{\text{interaction}}$$

$$\langle W(t) \rangle = \langle U^{-1}(t, t_0) W(t_0) U(t, t_0) \rangle$$

In-In Formalism

$$H = H_{\text{background}} + H_{\text{free}} + H_{\text{interaction}}$$

$$\langle W(t) \rangle = \langle U^{-1}(t, t_0) W(t_0) U(t, t_0) \rangle$$

$$U(t, t_0) = T \exp \left(-i \int_{t_0}^t dt' H_{\text{free}}(t') + H_{\text{int}}(t') \right)$$

In-In Formalism

$$\langle W(t) \rangle = \langle U^{-1}(t, t_0) W(t_0) U(t, t_0) \rangle$$

In-In Formalism

$$\langle W(t) \rangle = \langle U^{-1}(t, t_0) W(t_0) U(t, t_0) \rangle$$

$$\langle W(t) \rangle = \langle U^{-1}(t, t_0) W^I(t_0) U(t, t_0) \rangle$$

In-In Formalism

$$\langle W(t) \rangle = \langle U^{-1}(t, t_0) W(t_0) U(t, t_0) \rangle$$

$$\langle W(t) \rangle = \langle U^{-1}(t, t_0) W^I(t_0) U(t, t_0) \rangle$$

$$\langle W(t) \rangle = \langle U^{-1}(t, t_0) U_{free}(t, t_0) W^I(t) U_{free}^{-1}(t, t_0) U(t, t_0) \rangle$$

In-In Magic

$$\langle W(t) \rangle = \langle U^{-1}(t, t_0) U_{free}(t, t_0) W^I(t) U_{free}^{-1}(t, t_0) U(t, t_0) \rangle$$

In-In Magic

$$\langle W(t) \rangle = \langle U^{-1}(t, t_0) U_{free}(t, t_0) W^I(t) U_{free}^{-1}(t, t_0) U(t, t_0) \rangle$$

$$U_{free}^{-1}(t, t_0) U(t, t_0) = T \exp(-i \int_{t_0}^t dt H_{int}^I(t))$$

So Back to Inflation

$$S = \int d^4x \sqrt{-g} \left(\frac{1}{2} R - \frac{1}{2} g^{00} \dot{\phi}^2 - V(\phi) \right)$$

So Back to Inflation

$$S = \int d^4x \sqrt{-g} \left(\frac{1}{2} R - \frac{1}{2} g^{00} \dot{\phi}^2 - V(\phi) \right)$$

$$ds^2 = -N^2 dt^2 + h_{ij} (dx^i + N_j dt)(dx^j + N_i dt)$$

So Back to Inflation

$$S = \int d^4x \sqrt{-g} \left(\frac{1}{2} R - \frac{1}{2} g^{00} \dot{\phi}^2 - V(\phi) \right)$$

$$ds^2 = -N^2 dt^2 + h_{ij} (dx^i + N_j dt) (dx^j + N_i dt)$$

$$\sqrt{-g} \rightarrow N \sqrt{h},$$

$$R \rightarrow K_{ij} K^{ij} - K^2 + {}^{(3)}R,$$

$$g^{00} \rightarrow \frac{-1}{N^2}$$

Lagrangian in ADM form

$$L = \frac{N\sqrt{h}}{2} \left({}^{(3)}R + K_{ij}K^{ij} - K^2 + \frac{\dot{\phi}^2}{N^2} + V \right)$$

Lagrangian in ADM form

$$L = \frac{N\sqrt{h}}{2} \left({}^{(3)}R + K_{ij}K^{ij} - K^2 + \frac{\dot{\phi}^2}{N^2} + V \right)$$

$${}^{(3)}R - 2V - \frac{\dot{\phi}^2}{N^2} - \frac{1}{N} (K_{ij}K^{ij} - K^2) = 0$$

Lagrangian in ADM form

$$L = \frac{N\sqrt{h}}{2} \left({}^{(3)}R + K_{ij}K^{ij} - K^2 + \frac{\dot{\phi}^2}{N^2} + V \right)$$

$${}^{(3)}R - 2V - \frac{\dot{\phi}^2}{N^2} - \frac{1}{N} (K_{ij}K^{ij} - K^2) = 0$$

$$D_i [K_j^i - K\delta_j^i]$$

Example: Expanding around background

$$ds^2 = -dt^2 + a^2 dx^2$$

Constraint equation

$${}^{(3)}R - 2V - \frac{\dot{\phi}^2}{N^2} - \frac{1}{N}(K_{ij}K^{ij} - K^2) = 0$$

Example: Expanding around background

$$ds^2 = -dt^2 + a^2 dx^2$$

Constraint equation

$${}^{(3)}R - 2V - \frac{\dot{\phi}^2}{N^2} - \frac{1}{N}(K_{ij}K^{ij} - K^2) = 0$$

becomes the Friedmann Equation...

$$3H^2 = \frac{\dot{\phi}^2}{2} + V$$

Still have some gauge freedom

ADM Metric

$$ds^2 = -N^2 dt^2 + h_{ij}(dx^i + N_j dt)(dx^j + N_i dt)$$

Still have some gauge freedom

ADM Metric

$$ds^2 = -N^2 dt^2 + h_{ij}(dx^i + N_j dt)(dx^j + N_i dt)$$

Gauge-Fix for scalar perturbations

$$h_{ij} = a^2 e^{2\zeta} \delta_{ij}$$

$$N_i = \delta_i \psi$$

Strategy

Expand action to cubic order in the perturbations (ζ , lapse, shift)

Strategy

Expand action to cubic order in the perturbations (ζ , lapse, shift)

Eliminate the lapse and the shift using the constraint equations.

Strategy

Expand action to cubic order in the perturbations (ζ , lapse, shift)

Eliminate the lapse and the shift using the constraint equations.

Quadratic will give us $\zeta^I(t)$, Cubic will give $H_{\text{interaction}}(t)$

Second Order Action

$$S_2 = \int dt d^3x 4 \frac{\dot{\phi}^2}{H^2} \left(\frac{a^3}{2} \dot{\zeta}^2 - \frac{a}{2} (\delta\zeta)^2 \right)$$

Second Order Action

$$S_2 = \int dt d^3x 4 \frac{\dot{\phi}^2}{H^2} \left(\frac{a^3}{2} \dot{\zeta}^2 - \frac{a}{2} (\delta\zeta)^2 \right)$$

$$\frac{\dot{\phi}^2}{H^2} \equiv \epsilon$$

Not quite the right form to be quantized
yet

$$z \equiv a\sqrt{2\epsilon}, \quad v \equiv \zeta z, \quad \int dt \rightarrow \int a d\tau$$

Not quite the right form to be quantized yet

$$z \equiv a\sqrt{2\epsilon}, \quad v \equiv \zeta z, \quad \int dt \rightarrow \int a d\tau$$

$$S_{MS} = \frac{1}{2} \int d\tau d^3x (v'^2 - (\delta v)^2 - \frac{z''}{z} v^2)$$

Can finally quantize the field

$$\zeta_I(\vec{k}, t) = u_k(t)a_I(\vec{k}) + u_k^*(t)a_I^\dagger(-\vec{k})$$
$$[a_I(\vec{k}), a_I^\dagger(\vec{k}')] = (2\pi)^3\delta(\vec{k} - \vec{k}')$$

Can finally quantize the field

$$\zeta_I(\vec{k}, t) = u_k(t)a_I(\vec{k}) + u_k^*(t)a_I^\dagger(-\vec{k})$$
$$[a_I(\vec{k}), a_I^\dagger(\vec{k}')] = (2\pi)^3\delta(\vec{k} - \vec{k}')$$

$$u_k = zv_k$$

$$v_k'' + (k^2 - z''/z)v_k = 0,$$

$$v_k(\tau_0) = \frac{1}{\sqrt{2k}}, v_k'(\tau_0) = -i\sqrt{\frac{k}{2}}$$

So for the interaction picture field $\zeta_I(\tau)$,
we have

Its time evolution

$$u_k = \frac{H}{\sqrt{4\epsilon k^3}}(1 - ik\tau)e^{ik\tau}$$

So for the interaction picture field $\zeta_I(\tau)$,
we have

Its time evolution

$$u_k = \frac{H}{\sqrt{4\epsilon k^3}}(1 - ik\tau)e^{ik\tau}$$

The vacuum

$$a|0\rangle = 0 \rightarrow \langle \dots \rangle = \langle 0 | \dots | 0 \rangle$$

So for the interaction picture field $\zeta_I(\tau)$, we have

Its time evolution

$$u_k = \frac{H}{\sqrt{4\epsilon k^3}}(1 - ik\tau)e^{ik\tau}$$

The vacuum

$$a|0\rangle = 0 \rightarrow \langle \dots \rangle = \langle 0 | \dots | 0 \rangle$$

The contraction

$$\langle \zeta_I(k_1, 0) \zeta_I(k_2, 0) \rangle = \frac{H^2}{2(2\pi^3)\epsilon k_1^3} \delta(k_1 - k_2)$$

Now just need the interaction hamiltonian

Can prove $H_{int} = -L_{int}$

Now just need the interaction hamiltonian

Can prove $H_{int} = -L_{int}$

$$H_{int}(\tau) \supset \int d^3x a \epsilon^2 \zeta(x, \tau) \zeta'(x, \tau) \zeta'(x, \tau)$$

Now just need the interaction hamiltonian

Can prove $H_{int} = -L_{int}$

$$H_{int}(\tau) \supset \int d^3x a \epsilon^2 \zeta(x, \tau) \zeta'(x, \tau) \zeta'(x, \tau)$$

$$\langle \zeta_{k_1}(t) \zeta_{k_2}(t) \zeta_{k_3}(t) \rangle = \langle (\bar{T} \exp(-i \int_{t_0}^t dt H_{int}^I(t))) \zeta_{k_1}^I(t) \zeta_{k_2}^I(t) \zeta_{k_3}^I(t) T \exp(-i \int_{t_0}^t dt H_{int}^I(t)) \rangle$$

Can finally compute the bispectrum

$$\langle \zeta_{k_1}(0) \zeta_{k_2}(0) \zeta_{k_3}(0) \rangle =$$
$$\langle \text{Re} \left[-2i \zeta_{k_1}^I(0) \zeta_{k_2}^I(0) \zeta_{k_3}^I(0) \int_{-\infty(1+i\epsilon)}^0 d\tau d^3x a^2 \epsilon^2 \zeta_I(x, \tau') \zeta_I'(x, \tau') \zeta_I'(x, \tau') \right] \rangle$$

Can finally compute the bispectrum

$$\langle \zeta_{k_1}(0) \zeta_{k_2}(0) \zeta_{k_3}(0) \rangle = \langle \text{Re} \left[-2i \zeta_{k_1}^I(0) \zeta_{k_2}^I(0) \zeta_{k_3}^I(0) \int_{-\infty(1+i\epsilon)}^0 d\tau d^3x a^2 \epsilon^2 \zeta_I(x, \tau') \zeta_I'(x, \tau') \zeta_I'(x, \tau') \right] \rangle$$

$$\text{Fourier Space } \int d^3x \rightarrow \int \frac{d^3q_1}{(2\pi)^3} \frac{d^3q_2}{(2\pi)^3} \frac{d^3q_3}{(2\pi)^3} e^{-i(q_1+q_2+q_3)x}$$

Wick Contractions

$$\langle \zeta_{k_1}^I(0) \zeta_{k_2}^I(0) \zeta_{k_3}^I(0) \zeta_{q_1}^I(\tau) \zeta_{q_2}^I(\tau)' \zeta_{q_3}^I(\tau)' \rangle$$

Wick Contractions

$$\langle \zeta_{k_1}^I(0) \zeta_{k_2}^I(0) \zeta_{k_3}^I(0) \zeta_{q_1}^I(\tau) \zeta_{q_2}^I(\tau)' \zeta_{q_3}^I(\tau)' \rangle$$

becomes products of

$$\langle \zeta_k(t_1) \zeta_q(t_2) \rangle = (2\pi)^3 u(t_1) u^*(t_2) \delta(k - q)$$

After doing the contractions and computing the integrals...

One term in the bispectrum of single-field inflation

$$\langle \zeta_{k_1}(0) \zeta_{k_2}(0) \zeta_{k_3}(0) \rangle = \frac{H^4}{16\epsilon} \frac{1}{(k_1 k_2 k_3)^3} (2\pi)^3 \delta(k_1 + k_2 + k_3) (k_2 k_3)^2 \left(\frac{1}{K} + \frac{k_1}{K^2} + 1 \rightarrow 2+1 \rightarrow 3 \right)$$

How to Compute Primordial Non-Gaussianities

Sam Passaglia¹

¹University of Chicago KICP